Al Gl &F Al Ml A
2023 T 20IAF LBHS|H MR 1Dt
S M1
HE: K|YA 2T S
@2 NEANE 29 (E+9]: ® )
SA - B B9 (3) - KIBAY - BAS Sy S HIDS2
NI 10F 863,451 866,261 2,810
= 56,612
-] 806,839
KIEA DEDA &E 725,258 741,723 16,465
2 56,612
-] 668,646
ENEEEE 168,727 180,745 ~12,018
ENEEE 123,840 171,146 47,306
201 Ler2g] 40,239 40,239 0
01 AFR2e] 27.139 27,139 0
=0 AF 27,139 27,139 0
OEIEIES =1 26,089
OZ{TRIE(C5570) ARE 1,220
-El(5Y) 260, 0002 *27H 520
-EH(ZH) 350,000 %27H 700
OD=Y0IN TRIE ARZ(SP-1350R) 9,891
—EU 440,0002x2H 880
~LEI|E 198, 00024 *1H 198
~TyA 22 324 220,000 1M 220
IS =22 JIE 330,000 *1H 330
—EMAY 2 390,500 1M 391
“XX 22U 84 858,00024* 17} 858
—C|H2T 621,5002% 174 622
~Z3 HE EMA 473,0002%1 4 473
—gE 1Y /U 1,023,000 %1} 1,023
~C2 F2ld | 957,0002* 1M 957
-E& TJeld /% 715,0002 %174 715
-Z3 "E 23 1,127,500 %1} 1,128
-5 29 456,500 %174 457
~TYM 2 396,0002* 1M 3%
-20IAE EH BEE 275,0002 %1} 275
-0PC =& 968,00024%17H 98
OAIAIZIE JMAHIE 0|8442 14,000
~XIZAl 802/%150,00024 12,000
-Hl2l4=e 80®%25,00024 2,000
OXIEHAl 2Rl slAY o|8442
44,0002 %122 528
OZATY 450
~XIgtAl EEt 50,0002 x32 150
“RIEA 2 AQIAY AR
100,0002*3A 300
o2g+g 1,050
O SAAIRIRB| EAdsgt
70,0002 533 1,050




SM: MR
RN JUNE
ool UHE 29

r

(e &)
SN - HE - SI(EH) - KIRAY - BAS Sy S HIDS2
02 2224l 13,100 13,100
=0l & 13,100 13,100
OAIZEHIF XY 13,100
OD=HO0IMERIH SAE4H
59,500,000 *8% 4,760
O&AAIZE DA AR S=EHAIAE SXIE=H
695,000 * 12 8,340
202 Odd| 1,000 1,000
01 =2LHOHI 1,000 1,000
=0 & 1,000 1,000
O2204d| 1,000,000 1,000
203 HRF=&H| 1,800 1,800
03 AIBZ=XARZAIH| 1,800 1,800
20 1,800 1,800
OXIZA EHR AMFXIH]
1,800,0002! 1,800
204 HPHAH| 16,800 16,800
03 SEHRAHI 16,800 16,800
=0l & 16,800 16,800
ONSREYIRA 100,000 * 14+ 122 16,800
308 KHXIHHMSOIA 64,001 64,860 2859
11 S 2SHUE S AEREAIIH] 64,001 64,860 2859
=0 & 64,001 64,860 A859
OXIMITH KIZHEZAAE SXITHa2e
64,001,000 64,001
KA A0S 2t 10,023 9,599 424
306 =3 10,023 9,599 424
01 &3 10,023 9,599 424
=0l & 10,023 9,599 424
OXNZNATRH £ 10,023,000 10,023
DS |1RH 24 34,864 0 34,864
201 LBH23| 5,520 0 5,520
01 AFRZeltl 5,520 0 5,520
=0l & 5,520 0 5,520
OgE=EH] 3,000
OLNSAMZI RN E EL2MNE
2002 *15,0000H 3,000
o=2gs+e 2,520
OLDEAEIIEZ S HdERARS
&Y 70,000 *6 % x43] 1,680
OLEMNEI IS 2EL RS FaH
70,0002 *6H*23] 840
301 LEIBHZ 21,000 0 21,000
14 JIEtE43 21,000 0 21,000
=0l & 21,000 0 21,000




2XN:

M1

M YN STUA S
cHel: XS 29 (EEE=F))
S - FE - SRI(EIH) - AIRAE - BAS Sy e HIDS2
OENEPIEEEEE]
100, 000, 0002 *30%*70% 21,000
308 XHXISHHISOIA 8,344 0 8,344
11 2 2SOICHEIZ AR A A 8,344 8,344
20f At 8,344 8,344
O 2N BEHEAAH KX
CHeizel 8,344,000 8,344
ZLUAN AS 434,734 445 127 10,393
XIEAl 21 E =X 409,759 413,563 A\3,804
101 Q1A 16,248 20,582 A4, 334
04 JIHH22ISES 16,248 20,582 A4, 334
20f At 16,248 20,582 A4, 334
OXIN RURL A2 BX 12,091
== 9,620 x4 Al 22T *90L 6,927
O I=i-1Es=,
9,620 *4 A1 22 x 45 3,464
OJE=Y 80,0002 +52 800
O EH| 5,000 %28 %90 900
OXUASH TSET P2 X 4,157
OPIE=r=| 76,902 %219 2,925
ORraS7dY 76,960 x2 3 +8 2! 1,232
201 LEr2H] 364,511 363,981 530
01 AFR22IH 61,756 66,336 4,580
20] At 61,756 66,336 4,580
OFIEIES=%] 58,606
OFJIZ 88 82
70,0002 * 104 A*63] 4,200
OFJI2 82 MK
5021%4,00004*63] 1,200
FAlL R, S5 E2 OHHA 10,200
—=Al 60,0002 *32t A6 1,080
-Are 60,0002+ 102t A8 4,800
S5 60,0002+6Et A« 122 4,320
OFII2 SRHM(ME, =)
8021*445, 000% 35,600
oRumEs 3¢ 4021%50, 00004 2,000
O=A7Y 1,266
SNENEE 50,0002 +82 400
-XNZNAL 90,0002 +82 720
—=MIEE 73,0002 %22 146
OXYASH 227 2 4,140
-OH{ZE HE, = 80=1%30,0000H 2,400
-=HEADl L 52| OO
500,000 500
~2HEH 2 T2IED| O 740,000 740
~EN2Y ARE U AIREE 19
500,000 500




FA:

M1

M YN STUA S
CHel: DTN AE (EEE=F))
SN - HE - SI(EH) - KIRAY - BAS Sy S HIDS2
PEEER 3,150
OXIZNIAIOF| B
70,0002 %1533 3,150
02 232l 302,755 297,645 5,110
20] 4t 302,755 297,645 5,110
02222 2 HAl 302,755
OFII2 LRoHIN 2 2EE 223,485
-t 43024%405,00021 174,150
=2 2,53021%19,50024 49,335
OFAI2 LROHHN 28 2EE 10,751
-t 43021%15,0002 6,450
= 2,53084%1,7004 4,301
O== J20HHA 25 2EE 50,315
-1t 43024+67,00021 28,810
= 2,5302%8, 5002 21,505
OBNIIDAN S LERER(SI)
2,5302% 10024+ 122 3,036
OSII*H Btz 2,10024%90 4 * 122 2,268
OXILASH oHi2 2s 2EE 12,900
-t 43021x30,00024 12,900
202 O] 2,000 2,000
01 2LA0IH 2,000 2,000
20] 4t 2,000 2,000
OZ2I0iH| 2,000,000 2,000
203 AREXH| 1,800 1,800
CRAEESSEEESSE] 1,800 1,800
20) 4 1,800 1,800
OXIZAl BHEAD AIBERIH
1,800,0002 1,800
204 24| 25,200 25,200
03 SXHL2AHHI 25,200 25,200
20] At 25,200 25,200
OMNREYaRE 100,000 *21H* 122 25,200
HIDHA 288 2 HH| 24,975 31,564 6,589
101 QI2AH] 24,975 31,564 6,589
04 JIZH22IEES 24,975 31,564 6,589
20] 4t 24,975 31,564 16,589
OHI DAl 281 LHIEHI ALY 24,975
OAoBE TAF L X2 HHI(LH2) 23,380
-Jlea 76,902 x2Hx90 13,853
R 76,9602 x2H+452 6,927
SbESE 80,000« +52 800
-S| 5,000 x2Z»90 900
=4l 5,000 *x2H*90 ! 900
OATIBE HHTAH(AD) 1,595




SM: MR
ZE: XYM UM B

r

CHel: DTN AE (CH2: &P)
SA - B B9 (3) - KIBAY - BAS Sy S HIDS2
-JlEs 79,6702 *x2H*9 1,435
-REgdy 79 ,670L*2 3 x 1 160
LHAIQUE JHEEIF2E A 121,797 115,851 5,946
= 56,612
- 65,185
INEFEDIATAL YR FX 121,797 115,851 5,946
= 56,612
- 65,185
101 Q14| 46,902 44,075 2,827
= 38,3%
= 8,506
04 JIHR22ISES 46,902 44,075 2,827
= 38,3%
3 8,506
20f 4t 46,902 44,075 2,827
= 38,3%
3 8,506
OMNEFTE SHTA} 46,902
OBEEAH2AD) 43,283
s 79,6702+6H 60 28,682
= 28,682
-ResdE 79, 670R*63H*x20 9,561
= 7,405
= 2,156
-IESE 80,000 x6 %32 1,440
~wSt| 5,000 *6H*60 1,800
-S4l 5,000 *6H*60 1,800
O AU (LH2) 3,619
123 9,620R*4 A 2Hx1H+60L 2,309
= 2,309
23544+
9,620 %4 A | 2hx 1220 770
ESY 80,0002 x 1238 240
~wSt| 5,0002 % 1H*60 300
201 LB 71,995 68,876 3,119
= 18,216
- 53,779
01 AFR22/H 65,743 62,882 2,861
= 18,216
- 47,527
20] 4t 65,743 62,882 2,861
= 18,216
3 47,527




M HR11
S KA SELA A8

CHel: LHAIQIE JHEEDIA KA (EH9: &)
SN - HE - SI(EH) - KIRAY - BAS Sy S HIDS2
OYLBr=2H] 63,853
OFEHEAZTAE AHA 2 =82 HF 1,480
HEFSEX 2 70,00024%78t A 4%0
~SE4XAMNE A4 30,0002 *38FA Q0
M Y AEXA 30,0002 %108 A 300
-S0 ME 75,0002 +47H A #2353 600
OMNLZeIIA SHetTH HZH]
4,000,000 *13] 4,000
Ofgzetz Adz442 54,609
-1, 1. JIE HD|2 S 22
6,1002%7,9005*1. 1 53,009
= 18,216
- 34,793
6. 1. JIE M2 A5
7,2702%2005 1.1 1,600
OoHHMIE 1A AZ 242
7.27021%305+1. 1 240
OO0[2IAIE It AZ 242
24, 25024205 1.1 534
OZHHOINIRIH ARE 1,400
-£8 325,000 * 1K 325
-El(5Y) 325,00024*1 K 325
—EH(Z2d) 350, 0002 +2H 700
~HEY 3l4= 50,00024% 14 50
O0IZAl REZEH AR ARL2E 1,590
—CHAITH, o1 70,0002 +9= 630
~OHIIE 120,00024+8% %60
o294 1,890
ORSMIIAZAILS| Balay
70,0004 x9H*33] 1,890
02 222 6,252 5,994 258
20{AH 6,252 5,994 258
02222 2 HAl 3,612
oRBR2 3,612
-HE=E013 S 43048, 400H 3,612
OAISZH|I S 2,640
OMNEFEIIAAE K2 T2 24 (HPMAP
SH=EST] 2,640,0002! 2,640
202 09t 2,000 2,000
IENCEL 2,000 2,000
20{AH 2,000 2,000
OMEFEIIA SHTAL SH0Y
2,000,000 2,000
203 PREZTH] 900 900
03 AIREZIREZIH] 900 900
20)AH 900 900




2A:

X XH -
S= -

M1t
KAl SEIUA A

CHel: LHAIQIE JHEEDIA KA (EEE=F))
SA - BB O (S) - KIRAIY - BAS Sy S HIDS2
Y EEEPIEEINEEIES
900,000 900
EREEEELTEN) 138,193 124,538 13,655
REEET 87,973 66,198 21,775
RIEEE=E] 87,973 66,198 21,775
101 2124t 87,973 66,198 21,775
01 B2 87,973 66,198 21,775
20f At 87,973 132,396 N4, 423
OAlIZtel =& 12,321 2% 13 *35A( 2++ 12 67,273
SH=S01H 20,700 67,273 46,573
DIEET 50,220 58,340 A8, 120
J1=H 50,220 58,340 8,120
201 LBt 21,420 17,540 3,880
01 AFR22IH 21,420 17,540 3,880
20] 4t 21,420 35,080 A13,660
OYBr=2H] 1,980
OJ|=2AREE ¢
5,000 * 142122 840
Otlztss 15,0002 x35+12¢ 540
O=ALZXI(A4) 20,0002 *304H Xt 600
=1 15,360
OJ|2URFR SAH|
8,0002% 142102 x 128 13,440
OS24 =4l 8,000 %22 x 10U * 122 1,920
SH=S0IA 4,080 17,340 A13,260
202 O] 24,000 36,000 12,000
NIENCE 24,000 36,000 A 12,000
20] 4t 24,000 72,000 48,000
0J|2UREX BHEE
20,0002 % 14252+ 122 16,800
OZRE ZUSEOIH]
100,000 22 122 2,400
SH=20IH 4,800 19,200 A14,400
203 AREXH| 3,600 3,600 0
04 ENSHAREZI 3,600 3,600 0
20f At 3,600 3,600 0
©20¢2! Olat 300,000 %12 3,600
204 24| 1,200 1,200
01 ZHUZ AR LAY 1,200 1,200
20] 4t 1,200 1,200
ogga 100,000 128 1,200




